Warm Up November 19, 2018

1.) Solve for x: 3x +2a = 3(21

L

3.) The hength of a rectangle smore thanplits

fvidth] If the rectangle has a\perlmete 0
what is the length of the rectangle? J
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16. 10x - 8y = 24
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SYSTEMS OF | a set of two or more equations

EQUATIONS | with the same set of unknowns.
Jte. SOLUTION | Graphically: The point (x, y) where the two lines Intersect _

te-a SW/ Algebraically: The point (x, y) that makes both equations equal :

INTERSECTING LINES PARALLEL LINES SAME LINE
TYPES OF

SOLUTIONS x // /
same
slope

ONE SOLUTION NO SOLUTION INFINITE SOLUTION

(X, y) NS INF SOL.

SOLVING Solve both equations for y = mx+b
SYSTEMS BY Graph using slope and y-intercept
GRAPHING Determine the solution
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